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S AR HR
22, 1702 +40A1 2+ 1H x 123 10,642
o%z8ze|=g 150,000 x3% * 128 5,400
OsR=+¢ 70,0003 x3& * 128 2,520
oeb|etel=¢ 30,0002 +61H + 123 21,960
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4,621,228,0002 #4. 5%

4,621,228,0002 *3.545%

163,823,000 *12.95%

4,621,228,0002+2.78%

:
% 20

1,200,0002 %100
100,000& x3&* 123

50,0002 x632 *352
50,0003 35 +303]

50,0002 »98H

1,000,000+ 10EHH|

1,000,000 10X
4,800,000 23]
500,000& *5H

U

700,000& x10H

3,000,000& *22

5,000,000 23]

900,000 «3H 253
500,000 x10H 253

2(F21,018)

10,000,000« 1 =33
5,000,000 «3& %53
3,000,000& *5H+32]

3,000,000& *3&*32]
1,500,000« 1 =23

10,000,000 *252]

15,000,000& *202

1,500,000 208!

12,000,000& %53

207,956

163,823

21,216

128,471

120,000
3,600
162,750
110,250
52,500
50,000
4,900

10,000

10,000
9,600
2,500

7,000

6,000
202,500

10,000
67,500
125,000
150,000
30,000
75,000
45,000
30,000
27,000
3,000

250,000

300,000

30,000

60,000




D 2SHMSAIZAR A
DARle 2tz =X A

A HE0tE

Sl AIRIOIST 2 (cie) 29
Al .2 - HE . CI-_?.|(§D:") c NIEAIY - HA S Of| AFOH SEE Hnz=2
8% FM- 358 N &5 = of o s
Ottt Ask2dst 10,000,000 & 14 10,000
O382)| =2l 1,000,000 *33| 3,000
O¢&A 1ot =8
300,000 *2CH*102] 6,000
OllsHa o= 900,000 *65% 58,500
405 RHaEE S| 8,145 12,000 3,855
01 AL =EZFSHI 8,145 12,000 A3,855
OEeto| A= 440,000 #5CH 2,200
Oge 600,000 *1CH 600
Oald ABHE 385,000 *1CH 385
Oxtsa 660,000 *6CH 3,960
OMag &3DI 200,000 *5CH 1,000
2EANE 0= 25 2,424,670 368,095 2,096,575
& 2el2g 830,283 0 830,283
101 2124d| 151,223 0 151,223
M IIZINZ2 2SS ES 151,223 0 151,223
O ¥ T&£E 29 57,99
oJlea 90,4003 *2H x230 41,584
oFEY 90,4003 x2H »462 8,317
o ARt 90,400 3«2 11 1,989
oA2te|=E
16,9503 x2H #4524 x4 A| 2+ 6,102
oectidiaAa 29 28,997
SWIECT= 90,4003 * 1 230 20,792
oFgg 90,4003« 1«46 4,159
oA Xt~ 90,4003« 111! 9%
o A2tQ|=E
16,950 *1H »45 2 *4A| 2¢ 3,051
OFXt L A& 2tel 31,049
oJlgag 96,800 *1H*230 22,264
oFsY 96,8003 * 1 =46 4,453
oHXt=Y 96,8003 *1H 11! 1,065
o AI2tRI4E
18, 1503 *1H »45 2 +4 A| 2F 3,267
OMETAIA MAIRHRR 30,185
=PIl 90,400 *2ZH 150 27,120
SYAN k=X 27,120,000&*11. 3% 3,065
Onl=hl 3,000
oMAIXHMRRA 7LIS 2
300,000& =10 3,000
201 B2 AY| 602,205 602,205
01 At22teld| 270,115 270,115
O=2=ME 20,000




SIS AIE A A

DARle 2tz =X A

A HE0tE

tel: 2SAE0=2 23 (e A
AR . B - B t:}_?_|(§|:q|) c NIEAIY - HA S Of| AFOH SEE Hnz=2
5T 2 S e g 2 1 o <= . Ofl Ao e

ollz2 clEX & =2 A
10,000,000& * 14 10,000
olls2 E2& JIgs M&
10,000,000 * 14! 10,000
Oget=ZH| 20,500
oMNRES 7 8,500,000& *14] 8,500
ocHAES 7Y 700,000 * 122 8,400
odlE & 2 A=
50,0002« 128 600
=0z Iz +¢ 3,000,000 %14 3,000
OEAMN2Y =23 St 6,600
SALRA S8l 450,000 «1CH*12& 5,400
o)l 50,0002 +2CH* 122 1,200
OBAMAIE FXI2te] 182,080
oR013Hl 89 500,000 * 122 6,000
oATAIL OtMZE| EF
200,000 * 122 2,400
oA B4 B9 160,000,000 *14] 160,000
oz FX2el 89
230,000 =3CH* 122 8,280
oA &A= BY 200,000 *43] 800
oFXZH AAE AIEE
300,000 x 12 3,600
ogtdllsts a2 #Y
100,000 = 10H 1,000
OAld = et Ea 8,000
o5l FII8E ===
1,000,000 %14 1,000
o®™II&H| HIIEY =82
7,000,000& *14] 7,000
Oetd m=H| 345
odJ|gtM2e| JEWE
105,000 %13 105
oA tM2ACIN WF
240,0002 %12 240
O2E?I3s A&
100,000 8L »33] 2,400
OUIBHAIAE 29 15,800
SOIIHAIAES JHEH
6,000,000 *14] 6,000
SOIHAIAE Al 29
400,000« 128 4,800
o2t &2 X 7Y
5,000,000& *14] 5,000
O&AIA & SHHHAT 29 3,440
olAld 28 22F 29
2,000,000 %14 2,000




D 2SHMSAIZAR A
DARle 2tz =X A

A HE0tE

tel: 2SAE0=2 23 (SH9 H2)
AR .2 . HEH. t:}_?_|(§|)1|) - HIEAIY - HH2 0 AFoH SEE Hn=2
Smo AR e T == B Ofl &k ==
=oRUS MEHI 12,0002 * 10 =123 1,440
Oo2g==g 10,950
o= (MHE) 30,0002 13652 10,950
02 23244l 332,090 332,090
03322 2 HMAl 282,750
odMIIRS 20,000,000+ 12& 240,000
oiot+ER3a 2,500,000 = 12& 30,000
oI (HUMEE X
1,000,000« 12& 12,000
oZZEHI0IXl 7= Gtranslate AHEZ
500,000 *14 500
ost=aMI|J|=elgal Hald|
150,000 *13] 150
oS AROIMA 3|
100,000& *13] 100
OAIEEHIRXHIZ 45,640
oARR HE FAES
2,000,000 *43] 8,000
oAAE FI|&H RANES
4,000,000& 23] 8,000
oAl SALHl RIE>
2,000,000 *23] 4,000
ol JIAHEH RAE>
3,000,000 23] 6,000
oHEE Ral L HiEg(2A) Ha
5,000,000& 23] 10,000
oMa==x ¥ 22X A
2,000,000 *23] 4,000
o HLEIAH| HA
150,000 *107[+23] 3,000
oZZAIAH EHEH WX
30,000& *44 1 x23] 2,640
OOlIoH/H & SXrA Bl
200,000 *12& 2,400
ORFHI(HIAEAD])
1,000,000 14! 1,000
O(Ah)er=erE2 28 s H 3l
300,000& *13] 300
202 Ot 2,560 2,560
01 =LHOIH| 2,560 2,560
OAE0ls2 29 o
80,0002 »8H 43| 2,560
401 AlEHIYL 20 20,000 20,000
01 Al&Hl 20,000 20,000
OZ=ZA&E2e (M= L ATH)
5,000,000 43 20,000
405 Kot S| 54,300 54,300




D 2SHMSAIZAR A
M AIRIS 23tz =X &

A HE0tE

CHell ZSAE0z2 29 (SH9 H2)
AR RA - F - O(BIH) - NRAY - BES 0l Ao A timE=FT
01 TR ESF SHI 54,300 0 54,300
ODA=HU(12m) 30,000,000& 30,000
OgALE MBIkt 50,0002 *150H 7,500
OARE& | 100,000 +8CH 800
OEIZRAT] 1,500,000 *2CH 3,000
OgZzxH 3,000,000 *2CH 6,000
Ousa A3 3,000,000 *1CH 3,000
OS40t0/13 & =
2,000,000 *1CH 2,000
OXSHAISI! 2,000,000 *1CH 2,000
nsz 2el2d 136,682 156,8% A20,213
101 QI24H| 59,182 37,975 21,207
M IRMZZ2S e 59,182 37,975 21,207
OZEE 29 28,997
=JllEgg 90,4002 x12H*230 20,792
oFFE 90,4002 1 »46! 4,159
SN 90,400+ 111 9%
oAlZtel=g
16,9502 * 12 %4 A| 2Hx45& 3,051
OTAINARE 30,185
=Jl2s 90,4002 x2H *1502 27,120
cAUEEE 27,120,000 *11.3% 3,085
201 er2 3| 67,500 65,720 1,780
01 At2t2lt] 42,580 43,500 2920
OARES 7Y 4,500,000 14! 4,500
O34 & fdEs 28
400,000 123 4,800
OFadel =22 1,700,0008 * 12& 20,400
2= 20,000 x25 122 480
OF=I| Xt 50,0002 +2CH+ 122 1,200
ol St 30,0002 «2CH+ 122 720
OTIINE 22| =2
140,000& = 122 1,680
ORelZH 9 =2
250,000 * 122 3,000
OAgAIZ2e =2
150,000 122 1,800
OHIIHHBAL =2
1,000,000 14! 1,000
Odisehl & At &=
250,000 * 122 3,000
02 s5=34l 24,920 22,220 2,700
oMIIR3 1,200,0008 * 122 14,400
OUot=ER= 50,0002« 128 600




D SSHISAIEASE A

A HE0tE

M AIRIS 23tz =X &

ol SN2 2Y (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH SEE Hnz=2
SErTArSRt T == B Ofl r =e

OeleYsld ¥ Sele=s
60,0002 « 122 720
OAIEEHIRAIHIZ 3,800,000 *14] 3,800
O&3tx U8 Ea 400,000& %12 400
OFEA 218 HaA 3,000,000& 14 3,000
OsNdRY= 500,000& *4=] 2,000
401 AlEHIZL 2 OHYI 10,000 50,000 240,000
01 AlZHI 10,000 50,000 40,000
OXZAIZ2el (M= & ATH)
2,000,000 x5 10,000
=22 HA2E 1,060,000 1,060,000
201 Zet23 ] 880,000 880,000
03 HAH2ZHI 880,000 880,000
OSZIIENMA| 500,000,000& =14 500,000
OFHII=EHA 300,000,000& 14 300,000
OllznFI=HAAI 50,000,000 x14! 50,000
(OF =PI FSYN 30,000,000 *14! 30,000
308 AHXIHMSO0IA 60,000 60,000
18 S 2SO B & AET AL 60,000 60,000
O&AIZEHI 20,000,000& *32 60,000
401 AlIEHIZL 2 0HY| 120,000 120,000
04 HAR2EAIZHI 120,000 120,000
O&AlY & 12,500,000 & =43 50,000
O&Al B2t 224 17,500,000 *43] 70,000
w2 HA2SE 140,000 99,000 41,000
201 =3 80,000 70,500 9,500
03 HAI2HI 80,000 60,000 20,000
O=H JI1=2l&Al 20,000,000& * 14! 20,000
OXg 2E= J|=lEAl
20,000,000& * 14! 20,000
OJ15 JIEEAl 20,000,000 x14! 20,000
O= JI1=8l&Al 20,000,000 x14! 20,000
308 AHXIHMSO0IA 10,000 4,500 5,500
183 S 2SO B & AET AL 10,000 4,500 5,500
O&Al 22HI 5,000,000 23! 10,000
401 AlIEHIZL 2 0HY| 50,000 24,000 26,000
04 HARZE AIZHI 50,000 24,000 26,000
O&AIY A & Z2F 14
25,000,000 =23 50,000
A2EEF =8 & 2l 198,700 8,800 189,900
201 2= 18,700 8,800 9,900
01 At22t2ltl 17,200 8,800 8,400




D 2SHMSAIZAR A
DARle 2tz =X A

o9 ASAYIES 29

= o

A HE0tE

AZ - 2A - FB . OI(SH) - NRAY - BES 0 & A HimEE]
OXNE 28 £% )17 & 422 19
4,000,000 14 4,000
O=&1 &3 5,400,000 13! 5,400
OS2 RAJS EaxE L oA
] 400,000 x7H+13] 2,800
OAZE 28H(Ls2-522)
5,000,000 *13] 5,000
02 E324Hl 1,500 0 1,500
OLEE B88 500,000,000& 0. 3% 1,500
207 A2 OH | 22,000 22,000
01 A= H| 22,000 22,000
OZE0I=A JI=Xg 7 89
22,000,000 14 22,000
405 Kt S| 158,000 158,000
01 I = FF S| 158,000 158,000
AE7Y 150,000,000& * 14! 150,000
OXZ 28| 7(33H 2BFR})
2,500,000 *20H 5,000
O2&&H (24 HIoIEZA)
500,000& *6H 3,000
s 2 M 2g 43,000 37,400 5,600
201 22 40,000 35,200 4,800
01 AFS2t2lHl 13,000 14,000 21,000
Ou=s 2 Mg =20 =22 &
1,000,000 & *33! 3,000
O0p2101E & & AHES E
10,000,000&*13! 10,000
03 A2 G| 27,000 21,200 5,800
O&OIol 1= oztdi0l
1,000,000&*22] 2,000
OAILIO! Ot3taI0] 1,000,000 *13l 1,000
OJI= Mg =208
1,000,000 & *53] 5,000
OX<ZZIt HEXZ =20
1,000,000 *23! 2,000
O0Pl= D= 1,000,000 *52] 5,000
OO0l otatdIo| 2,500,000 *43] 10,000
OusZz2Idl 249 25 74
2,000,000 14 2,000
301 LBBNZ 2,000 1,400 600
11 HALAHIXIEZ 2,000 1,400 600
OusZzd 29 =4l
8,000 252+ 103 2,000
308 AHXIHMSOIH 1,000 800 200
13 I 2 S0IHeHE & H 2 A 1,000 800 200
Ou=E2H| 1,000,000 *13] 1,000




L SEASAIL AR A
L A2Io] 250% =X S
L USARDIZE 29

SN LSOIE

S - A B9(E0) - HRAY - BES of v A
SAXIE HMAIKE ALS 16,000 16,000
201 er23 | 8,000 8,000
03 ALY 8,000 8,000
OdA=2g 2,000,000 *42] 8,000
401 AlEHIZ S 0HHI 8,000 8,000 0
04 AR2E AIZHI 8,000 8,000 0
O&Al B2t 714 2,000,000 *43] 8,000
Ey S ZHI(ZEEHH) 34,700 34,700 0
ZHl 34,700 34,700 0
=3l 34,700 34,700 0
201 Lt 5,500 5,500 0
01 AtR2telbl 5,500 5,500 0
Ogegt+=ZHI 5,500
cHIMNEESSHI 2,000,000 %14 2,000
oHEF |2/l 2,000,000 %14 2,000
oJ|Et B =EH| 1,500,000 *14] 1,500
202 04| 24,000 24,000
01 =LHAHI 24,000 24,000
OJlzge=4 0|
80,0002 *25F « 122 24,000
203 BR8] 5,200 5,200
02 RIS =] 1,000 1,000
OEAIRERFL 40,0003 253 1,000
M EASHLRFAH 4,200 4,200
ORM2ggR=d 350,000 * 122 4,200




L SEASAIL AR A
D ZREND BB
L NEENT ZHY

fon

H £ 0l & AF & S

Al x4

Al A

LR BB S(B) - NRAY - BAS 0 &y e HIRS2
2t 2,901,037 2,858,044 42,993
s 164,500
T 18,250
Al 2,718,287
SN 2435 L A 2,368,774 2,299,586 69, 183
Fay 36,500
= 18,250
Al 2,314,024
TANE HMAUT 1,508,360 1,435,550 72,810
s 36,500
T 18,250
Al 1,453,610
N2 Y 145,940 152,200 6,260
201 LEt2HH| 83,340 80,340 3,000
01 A2l 3,540 3,540 0
OEHRSESIAS] FAaLY
70,0008 x7H*23| 930
O&lAt =S 70,0002 x4 *23| 560
OJIEt+2Y 2,000,000 %14} 2,000
03 A2 Y 79,800 76,800 3,000
02BN 2
160,000 *20JH *83| 25,600
O88=M& 2H IHE 2]
40,000& *20 =83 6,400
OXEE A Z20Y 2y
120,000 *20JH *83| 19,200
OX2E A2 273 M2 2
40,0002 x202] *83| 6,400
OLEEII2t
15,000,000&*13] 15,000
OJIEH EM2
160,000 *15JH*13| 2,400
OgelE A2t 200,000 x5 1,000
O M2z=2! g Al 2Y
1,900,000& *23] 3,800
202 04| 7,000 5,600 1,400
01 201l 7,000 5,600 1,400
OZHT oi
20,0002 x7Z *503] 7,000
203 YR =&IH| 1,200 1,200
03 AMBFRAHR=XIH| 1,200 1,200
OAHFRHRFZX 1,200,000 * 1A 1,200
301 LEBNZ 6,800 6,800
14 IIEtE A3 6,800 6,800
Ogel= A2 ALKE AH| 24 1,800




A= ESMSAIEAIE A

M I AS 245 & 2otEAl &4
SRl AIEEAE FEAS} EER=E)
AR .2 - HH . l:}.<,>_|(§|j1|) c NIEAIY - HA S Of| AFOH SEE Hnz=2
SErTArSRt T == B Ofl r =e
o S| 10,0002 *5% »203] 1,000
og Al 8,000 +5E +203] 800
OU=sA & 2= FIHA K&
20,0002 *100H 23] 4,000
O A2 BIEEE SF A &34
10,000& x50 23] 1,000
307 212t01& 27,600 26,780 820
05 EIR”IAE S 27,600 26,780 820
ODtAX2E N 29
27,600,000& * 14! 27,600
308 KXIEHMSOIS 20,000 38,280 A18,280
08 WFI|IZ0HEE xR 20,000 38,280 A 18,280
Oun=s=2st2t & BREAH2 TAFH|
10,000,000 #20H 2 20,000
AR e |2s 243t MY 34,000 25,800 8,200
201 22 34,000 24,000 10,000
03 A2 EHI 34,000 24,000 10,000
O=ANS0tel XEAY
400,000 +60H 24,000
OAMEHR2EMZ XIRAE
500, 0002 »200H 10,000
AL X2l 1,255,420 1,183,550 71,870
201 23| 1,047,920 1,080,050 A32,130
01 AFS2teltl 825,110 848,820 223,710
OgBt==2H| 24,350
oMzt EAF SXl2eltl
700,000 *79H 2~ 4,900
o3BAIEE HIIEE =2
6,000,000& 23] 12,000
o) HEEH =2
500,000& 2 213l 1,000
oalt HIIEH =8
500,000 20 2 +23] 2,000
ozl HIIBAMN =2
150,000 *3JH 2+13] 450
cAUSBIIE EF 3
400,000& *1 1 2+13] 400
oYUBHHDIZE XMl SEH S5
300,000 +200 A +6E 3,600
ORI W=H| 800
ogtgtae| Nt s 160,000& *22 320
oAl OtMAe|X} WF
200,000 *23] 400
osd)| gt Ze| s
25,0003 x22] 50




D 2SHMSAIZAR A

HM: ZZEN2 243 & 2EEA =4
=2l ANEA2 32 (St &)
AR 2A BB GRS - IRAY - BES il &k e HlmS2
oAl ZIIE 2elk us
30,000 *13] 30
Oul=t| 400
o & ArZe| Xt TI=h| 200,000& x2H 400
ogxtz 7,770
oM4AEH UXt=
777 0002 x5CH*23] 7,770
Oo2g=g 23,430
SRR
60,0002 *1Z 104 2 *2JH A 12,480
SN E=, 30,0002 *1H+365 10,950
Ozels49| 768,360
oMot ZEe|tHE =2
1,000,000& *12& 12,000
ORST AR MIIOHH BRIYH 242
50,0003 *44 2+ 128 2,400
oL HHHY E a2
150,000 *30* 12 5,400
oL N2 EMAEE
900,000& =123 10,800
°oZJIEEI SX=
900,000& =123 10,800
od=)| AXE 750,000 * 128 9,000
oH|ol Yxt= 550,000 * 123 6,600
oL N2 SoEHl AIEZR
1,300,000& =123 15,600
oL N2 CCTV Xtz
2,400,000& 123 28,800
o MZ =4 USHHEX &X=
180,000 128 2,160
oL N2 FRM HIALEMHIA AFZE
400,000 128 4,800
oNE L HSTHB HA HA 89
395,000,000 x 14! 395,000
CRBTHT HA HA B
265,000,000 14 265,000
02 3244l 222,810 231,230 28,420
02322 ¥ MAl 201,310
oREAMES 25,0003 x 1O 2+ 128 300
oA MIIAES
1,625,000 *8IH 212 156,000
ST QEY AIBE
1,100,000& 128 13,200
oL AME &St AIEE
240,0002 x6I1 2+ 123 17,280
oMz X £HE
800,000 57K 2 4,000




D 2SHMSAIZAR A

H: IDECHY L5 L 2STA 24
SRl AIEEAE FEAS} EER=E)
A= 24 - Z3H - SA(Z) - HFAY - BES Ol &t ﬁg% HIRE2
o293 AR
660, 0002 *2JH 4 23] 2,640
obte 2AxY 4,0002 *560m 2,240
SN BASBAS
300, 0002 *87H 423 4,800
CEANHLES 350,002 *14! 350
o21E S ¥ ADMASH
500, 0002 *14! 500
OAERHIR XL 21,500
STAZ ALl R
1,000,002 77H A 7,000
o®I| Y JIHAIE R
2,000,002 x20H A 4,000
ST AB HHAIAE S|
1,500,002 77 & 10,500
206 XM= Hl 3,500 3,500
01 HEH 3,500 3,500
OBA RXI22l Ha|
3,500,002 *14] 3,500
401 AIEHIZL 2 OHY] 188,000 9,000 93,000
01 Al 188,000 95,000 93,000
OZANT 242 RN+ 147,000
CRTTNZ =M 02 2+
20,000,00024*14! 20,000
CANYBLTH g BA
22,000,002 *14! 22,000
SBEND FI| 24 A
22,000,00024*14! 22,000
oADIEZAZ 24
4,000,000 *2JH 2 8,000
SAYEY L2lH0lE B
75,000, 0002 *14! 75,000
OO0kel ZZAIE 22
15,000, 00021 *14! 15,000
Oalll =& 22| 6.000,0002!* 14! 6.000
OJIEH Al&ZH| 20,000, 000! *14! 20,000
405 XiaHF S| 16,000 5,000 11,000
01 IarL EEF S| 16,000 5,000 11,000
OANBZAZ I 2
6,000,000 14! 6.000
OZAZ 24 HILI2QT2MEH 3,000
oIFA HICIQ Z2HE
3,000,0002 * 1M 3,000
Oosgeag 2z N2 | uH
2,000,000 14} 2,000
ORBEAMZ AN HAI
5,000,000 * 144 5,000




D 2SHMSAIZAR A

HY: ZTCAMP BH3 Y 28T TN
e AMEEAZ 3 (SH9 H2)
AT SN FE . B(BH) - HSAY - B ofl vy aET HD=2
d=-FA-d&-8 o 8= = ofl &b s2
T A ZHE L (2EHEZA) 73,000 74,000 A 1,000
= 36,500
< 18,250
Al 18,250
201 LEH2AH| 73,000 74,000 A 1,000
= 36,500
= 18,250
Al 18,250
03 SHAIZHHI 73,000 74,000 A 1,000
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